020 >kart-acces
s coNT

YAl |
Tk |l

° i i _te
sories/pri

1

ce_list/
1O

=
code description %%;lﬂ\%ﬁgﬁﬁ
CS-SPD-LFT2510R LEFT SPINDLE MOD. R @25MM 10°  CHROMED ¥20.800
CS-SPD-RGH2510R RIGHT SPINDLE MOD. R @25MM 10° CHROMED ’
CS-SPD-LFT2511R LEFT SPINDLE MOD. R @25MM 11° CHROMED
CS-SPD-RGH2511R RIGHT SPINDLE MOD. R 025MM 11° CHROMED &
CS-SPD-LFT2595R LEFT SPINDLE MOD. R 025MM 9,5° CHROMED & ¥23,800
CS-SPD-RGH2595R RIGHT SPINDLE MOD. R @25MM 9.5° CHROMED
CS-SPD-LFT17C10 LEFT SPINDLE 017MM, BEARINGS 010MM ¥15.800
CS-SPD-RGH17C10 RIGHT SPINDLE @17MM BEARINGS 010MM ’
CS-SPD-LFT1711C10 LEFT SPINDLE O17MM 11° , BEARINGS 010MM
CS-SPD-RGH1711C10 RIGHT SPINDLE @17MM 11° BEARINGS 010MM
CS-SPD-LFT1795C10 | LEFT SPINDLE 017MM 9,5° , BEARINGS 010MM ¥17,800
CS-SPD-RGH1795C10 m| RIGHT SPINDLE 017MM 9,5° BEARINGS 010MM
CS-SPD-LFT17C10L LEFT SPINDLE 017MM, BEARINGS 010MM, LONG
CS-SPD-RGH17C10L RIGHT SPINDLE @17MM BEARINGS 010MM ,LONG
¥17,800
|KIT—SPD—BLDEX | SPINDLE BLADE EXTENSION KIT (2 Pes) ‘® °
N ) ¥3,800
LS (3/
'\\://'
|VT—CCSSCD %l CCS SHAFT SCREW CENTERING DEVICE
¥3,200
==
code description %%gﬁ%ﬁgﬂ%
1 KIT-VT-SC0845SH SCREW COUNTERSUNK HEAD M8x45MM ¥60
2 |KIT-VT-WS0822CH WASHER COUNTERSUNK @8x22MM TITAN GOLD ANODIZED ¥200
3 |KIT-VT-WS0814 WASHER 08x14MM ¥40
4 |KIT-VT-WS0816 WASHER 08x16MM ¥40
5 |KIT-VT-NTO08SH NUT SELFLOCK HIGH M8 ¥50
6 |KIT-VT-CCSSCSP10B CCS SCREW SPINDLE @10 BLACK ¥1,780
7 |KIT-SPD-CCSBS010 CCS BUSH 0 DEGREE 10MM WHITE GALVANIZED ¥1,280
8 |KIT-SPD-CCSPLT CCS PLATE BLACK GALVANIZED ¥1,980
9 |KIT-VT-SC0412SH SCREW COUNTERSUNK HEAD M4x12MM ¥60
10 |KIT-VT-PN0610 1SO 4026 PIN M6x10MM ¥60
11  |KIT-SPD-CCSFXW CCS FIXED WASHER BLACK GALVANIZED ¥340
12 |KIT-SPD-CCSSPSJ CCS SPACER SFERICAL JOINT BLACK GALVANIZED ¥340
13 |KIT-SPD-CCSSPSP3 CCS SPINDLE SPACER H 3 MM WHITE GALVANIZED ml ¥290
14 |KIT-SPD-CCSSPSP6 CCS SPINDLE SPACER H 6 MM WHITE GALVANIZED L= Vo] ¥340
15 |KIT-SPD-CCSLWPLT CCS LOWER PLATE BLACK GALVANIZED ¥1,180
16 |KIT-SPD-CCSNTSJ CCS NUT SFERICAL JOINT WHITE GALVANIZED ¥680
21

IPK ACCESSORIES / REV.001




AL [

VR T
020 > kart Aafcg_essgr[e?/pi('ic‘;e_ list/

TS o I Ao

17 |KIT-VT-NTO8SH NUT SELFLOCK HIGH M8 ¥50

18 |KIT-CU-1026 BEARING 010x026xHsmy  |EEGaE ¥680

19 |KIT-VT-SP1022 BEARINGS SPACER 010.5x016xH22MM ¥480

20 |KIT-VT-SP1025 025 SPINDLE SPACER H10MM ALUMINIUM ANOD. INOX ¥880

21 |KIT-VT-SP0525 025 SPINDLE SPACER H5MM ALUMINIUM ANOD. INOX ¥780

22 |KIT-VT-WS1430BLK HUB LOCKING WASHER 014x030xHIMM ¥780

23 |KIT-VT-NT14SL NUT SELFLOCK LOW M14 ¥80

24 |KIT-VT-WS0813CL < WASHER WITH COLLAR 08x13x4mm KIT ¥140

25 |KIT-VT-SP0517 017 SPINDLE SPACER H5MM TITAN GOLD ANODIZED ¥680

26 |KIT-VT-SP1017 017 SPINDLE SPACER H10MM TITAN GOLD ANODIZED ¥780
|KIT—SPD—CCSBS1 10 | CCS BUSH 1 DEGREE 10MM WHITE GALVANIZED Q ¥1,380 | |
[<iT-sPD-CcCSBS210 [ COS BUSH 2 DEGREES 10MM WHITE GALVANIZED Q ¥1,380 [ |

22

IPK ACCESSORIES / REV.001



